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AR L i

| PART -111
sevs@LLGlewe / ACCOUNTANCY

(50 wpmb e aufl / Tamil & English Versions)

Gpyib : 3 wanfl ] [ Qyorr;j,g, wdHuQuanser : 200
Time Allowed : 3 Hours ] ‘ ' . [Maximum Marks : 200
ofleyenr : (1) arsg eNarrés@pn shlurs ufeurdl o eTeTHT 6TETLISEN 6T

sllurrégs Qsreraraybd. Fsludedd Gapulmlder siompé
samsraniurariLb o Leangunrsd Qsiflelissab. |
@ Beob soeg smUy apulea LLHCWL aWHMSHGD,
<y 5CETq HeusHGD LwanBss CouamBid. LILBISET euamyeusnE

Queglad LETUIHSS6LD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

’ fairness, inform the Hall Supervisor 1mmed1ate1y _

(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

UGS - i/ PART - A

GO : Semensg elamssEns@n eleLweflésa. ' 30x1=30
Note : Answer all the questioné.

L GamglL @Lisemer Hyliys :

Fill in the blanks :
1. SLés dlow o oo, @Hé ag GopGar 2ps -
eawied Quds srafaiy wHuG Lu@L.
Closing stock is valued at cost price or price whichever is lower.
2. er(uy By el Omhs 5055 ST LILGLD.
~ Interest on drawings is deducted from account.
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2

01.04.2014. yevreppw @LiLmiieleiuy cukidlé e T 10,00,000. curkid
aully oigD < @THEES 10%. ey QFansHuwig T 60,000, 31.03.2015 <S\6T )
Beyenaiuder 2 erer euiliy T

The trial balance shows a bank loan T 10,00,000 at 10% interest on 01.04.2014.

Interest paid is ¥ 60,000. Interest outstanding is ¥ on 31.03.2015.
Blever ifldEens wpeom (PN CTETAD AMPSELILIHID.
Statement of affairs method is also called as method.

@@ Asmfe o Amwwrarfiar Qurgs Qemsgsse T 5,00,000, S{QU(HELILI
Qumrmiiser ¥ 3,50,000 erafled SlGU(HEDL W (PSeD Y @GLD.

The total assets of a proprietor are ¥ 5 00,000. His liabilities ¥ 3,50,000. Then his

+ capital in the business is

Gssmsser 185 Cguorend  sansdi ___‘_____ WP
vwetu®hssiuGEng).

‘method of depreciation is used in the case of Lease.

Q(1 t@u_l‘ﬂ')ﬁlj"&;@m aflpueer eflene T 7,00,000 edhremenuied erpuLl_L
BLLib ¥ 1,00,000 erafed sips Quipdrsder o @ by T

Selling price of a machinery is ¥ 7,00,000. The loss on sale of machinery is
¥1,00,000. The book value of the asset is ¥

audl Guoed euanriiLiHm - QUIMILILEE @ 2 STTeRTd.
Bank overdraft is an example of ___ liability.

Qursg efpueer T 6,00,000 %as 2 drer Gumg) sLer efibuenar T 4,50,000,
erafled Qrrés edpuener T

When total sales is ¥ 6,00,000, Credit sales is ¥ 4,50,000, then cash sales will be
? N . . .



IL.

10.

11.

12,

13.

14,

15.

3

found out.

gl el efesdear QuTps Gelps sl H emaiss s Lraflsefler
PSR HETEEGSHEHES eQdssde wrHolu@LD.

In retirement, the accumulated reserves will be transferred to the old partner s
capital account in ratio.

Quuwirerey s HimwsHer @gﬁmlﬁh_ﬁlul;(a B(HEGLD.

Nominal capital is the capital mentioned in the of the company.

%100 s mé\uqmm @@ unig T 120 -6@ Qmaﬂuﬁ@ Qe Lme
etiukfer Bgrar usdr wpevanolb T < GLD.

If a share of T 100 is issued for ¥ 120, the securities premium on such share is
4 .

'EIﬂu.Il'I'GUI' eLawug CompOsOEs 6T(PSIs.

Choose and write the correct answer.

16.

QarOu Ceuamrig s euTL& (b : |

(1) Qumrmiy (<) QErsg (@) eupomenid

Rent outstanding is : ,
(a) a liability (b) an asset (¢) an income

6068

e@® wrssda Qn Gvrresa @@uu IO ALET- T30, S —
- @@UurEL.

The closing balance of one month will be the balance of the next

month. ‘

@pHws sl rameind FLLLD e HaurssLULL Bar(

Indian Partnership Act was enacted in the year . |

em yHw smiLralleows GCers@h Qurpgl Qeruls udliey

eaQflgb samsslL Ceuatm®BLb. '

At the time of admission of a new partner, o . profit ratio should be

-
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17.

18.

19,

20.

21

4

31.03.2002 yemerpw @pLinmiedeniy. upL® sLarelser T 1,50,000
sLeraflser 185 5% euryr Qs sLen RFEGEG @s16a UL Coudrig L
Qzrens .

(1) ¥ 15,000 (=) T 7,500 (@) T 75,000

The Trial Balance on 31.03.2002 shows Sundry debtors ¥ 1,50,000 and the

‘provision for bad and doubtful debts at 5% is

(@) ¥ 15,000 ®) ¥ 7,500 (€ 75,000

eflwruimy g e @geﬂmm'a@u surfssiiuBeug) :
(<=1) ewrunys sanées
() Qooru wdeg prLs sarss

(@) Pow eifses

The capital of a business is ascertained by preparing :
(a) Trading account

(b) Statement of profit or loss

(c) - Statement of affairs

eow Quprs uﬁ@m@ascmrrﬁ Lweru(hggIb Bimeued :

(=) Sy wrumrflsdr (<) Hmioriser (@) <irs
Incomplete records are generally used by : .
(a) Small traders - (b) Company (c) = Government

elpumer eleva Qersder g () whliemu ol NG EOTE QBHSTH g
20— GO |

() Bl (c"é‘b) GU(THLOTEOTLD (8) Qaru

If selling price is more than the book value of the asset on the date of sale, it is :
(a) aloss (b) an income (c) a profit

¥ 10,000 wéluierar @ Haews Qsrsder 155 e 10% GODHS
Qsd wAHUY epople Csuiprerd BsstiulLre, WPSE  epemmy
@ Ha@ssEE hasiu@n Celwres Asrasuder Qurssio.

(1) T 2,107 (=4)T 2,710 - (@) T 2,701

Total amount of depreciation provided on the written down value method at the

- rate of 10% p.a. on ¥ 10,000 for the first three years will be :

@ ¥2,107 b) T2710 () T2,701"



22.

23.

24.

25.

26.

.5
Siasg s eNSlShis e <6 QsTHESILEHLD.
(=1) eflgréemyid (<) BLBEG (8) szeizbd
All solvency ratios are expressed in terms of :
(a) Proportion (b) Times. (c) Percentage

Quwss aNfgd Fwrs @@ésé;é; Folq WIG)
(1) 100 — Quiss Qaru H&sLD
(<) 100 + Quiss Qeoru &S

(@) Quss Qaeru alldsd

Operating ratio is equal to :
(@) - 100 — Operating profit ratio
(b) 100 + Operating profit ratio
(c) Operating profit ratio

SimpsDar Abpgl D@ TOSSESTH.

(&) Qprésls Qumg&ET

(=) Qursss Qsaissarser

(@) CupegmPu ergie|bldene

Sale of furniture is an example for :

(@) Cash receipt

(b) Cash payment

(c) None of the above

a6 WBerar ey SETEALILEOGS : - S

(@) Osriss s () Qod e (@) srmefl s
Interest on capital is calculated on the :

(@) Opening Capital (b) Closing Capital (c) Average Capital

sl Lrafladr A, B @maumnd 3 : 2 eranp lfgsHd Qerubd LT
aupgart. U sl Lrefl C1/3 uadlpe CeidsiuLme A, B <, Gt
C-a LBIADETES SMHEUG

() sOUBE

(=) Seuisaflen pse Hzsmsts QUTBSS

(®) SeuisEpemLy Qaru clfgsasi CUTBSS

When A and B are sharing profits and losses in the ratio of 3 : 2, they admit C as
a partner giving him 1/3 share of profits. This will be given by A and B.

(a) Equally ' .

(b) In the ratio of their capital

(c) In the ratio of their profits

6068
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27,

28.

29.

30.

6

Qavaflé Gedgib smiLralisg Ger Cauarqu Qsres =L Gar
QeaussliLiLefdame erafle, SiFASTaMS LIPHLILGD SaTHE
(1) o Femréa (<) BL6T HerTEHS; (@) Qurés sanée

If the retiring partner is not paid immediately, his amount due will be transferred
to his account.

(a) Capital account (b) Loan account (c) Current account

SiLLeueneanr A-er Lilg, amg@ﬁq Fleieneiss 5mésa§]L_C|Lj@Lb euLllq

(1) 4% (<) 5% (@) 6%

According to Table A, interest charged on calls-in-arrears is
(@ 4% (b)y 5% (c) 6%

B (Smssul L) gL ib 2000 -6 Lilg LIBIGSETTE U IImIGSIILLL
Hlmiold cuerEWITes LkIGEHm6T L (Hb Ceuaflud®id

(1) 1 ' ()2 (®) 3

Accordmg to Compames (Amendment) Act 2000, a Company Limited by share

can issue kinds of shares.
»

@ 1 ' ®) 2 ) 3

@@ Bpiosdler QuisEpiser genm I 10 AL 200 FTETTERT LIkIGS6T
g Qud @epiys Qsrasura T 2 QsqssTs srrarsHarmed
iy Qeugert. Yerarnm @uukiGasdr T 1,500-&@ oo Qeuaui@
Qe g erafld waalar smndhe wrppriu@n Qsrens

@10, . , |

(1) T 1,100 (<=1) X 1,600 (@) T 1,500

‘The Directors of a company forfeited 200 Equity Shares of ¥ 10 each fully called
_ up on which the final call of ¥ 2 has not been paid. The shares were re~issued

upon payment of ¥ 1,500. The amount transferred to Capital Reserve Account is

@) T 1,100 ®) T 1,600 © (@ T1,500
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LGS - 9 / PART - B

GO : () eTemeuCuenid LIS NaTTésEnsSE e weREsayb. 10x5=50

Note :

31.

32.

.33.

34.

35.

36.

37.

38.

(i) smsHwD sriHs TS @@Qmwm@m@m 50 GUTTSMNSHEHES
Wamod eSenweldsa|w.

(i) Answer any ten questions.

- (i) Answers to theory questions should not exceed 50 words each.

Qar@u Geuerigu! QF6|S6T 6TamMITE CI'G%TGUT:?

What is outstanding expense ?

Hlana oiflGens erampmed eremean ? -
What is statement of affairs ?

Cauiprand cuenyellsESamTDd &(Hs.

Define Depreciation.

fffeoae sifisas ugluriela Gmpurhser gGaaib Graymeand .

Give any two limitations of financial statement analysis.

Qrrésl QUNISOSHEHES BHEH 2-STTEID F(HS.

Give five examples for cash receipts.

2 Wi @@TLILD GTEIDI) GTETET ? *

What is super profit ?

LIkIE emUblplin] eremmmed ereomesr ?
What is forfeiture of shares ?

31.03.2013 yerrenpw @sLiumiedarig wpse T 6,00,000. (pged B eul'lg 6%
Si@dss @sparar sNssl B LHe) whmid wrHml LHey SMmS.
As per Trial Balance on 31.03.2013 capital is ¥ 6,00,000. Provide 6% interest on cap1ta1

Pass adjusting and transfer entries.

[ Hwliys / Turn over
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39.

40.

41.

8
IPULL sEumes Greams :
LIy | 3 Z 50,000
Fa(HFD (PSD 10,000
Qsr_&s (pse ¥ 1,00,000
Sldeuramgar @arub T 25,000
Buf s ?
Calculate the missing information :
Drawings ¥ 50,000
Additional capital %10,000
Opening capital % 1,00,000
Profit made during the year + ¥ 25,000
Closing capital ?

@6 Bimiowd T 1,20,000 wéijerer Quibdrseams gl siger Lwereliy
srow 10 yanhaser. @nd whiiy T 12,000. CrrGsm @ wpanudd Gginmren
eNflFd sres. _ |

A company purchased a machinery for ¥ 1,20,000. Its useful life is 10 years and the-
scrap value is ¥ 12,000. Determine the rate of depreciation under the straight line

" method.

Lﬁ]e;inm@lb dleurriseerds Qaran® sLarmefsedr o9 bHLienar Nflssamss
sasE (D -
i : 4

Qorgs éﬂgbumm 1,75,000 Qrrés aNhLienes 35,000
aﬂﬁ)ummgﬁ@uum 10,000 QFT_s58 sL_amefser 8,000
Qudé s_amafsadr 12,000
From the following, determine Debtors Turnover ratio :

: 4 ) 4
Total Sales 1,75,000 Cash Sales 35,000
Sales Return 10,000 Opening Debtors 8,000

Closing Debtors 12,000



42,

43.

44,

9 .
Spargnd eNairhseid Qs geaeh 2013 wrssdpsrar Arréss
At iguime swuriés.
(1) ewasudmiiy Crrésd T 2,500
(<=1) gmaﬁﬂ 2013 & Qrrés epuener T 65,000
() gaaufl wresHparer amel T 23,750
() Qpréss Q&.‘.rrm@geu T 27,450
(22) wpsd@asear Bg Qup GCeuadrgw em_q 1,750
Prepare cash budget for the month of January 2013 from the followmg information.
(a) Cash in hand (estimated) 2 2,500
(b) Cash sales for January 2013 ¥ 65,000
(c) Wages for the month January ¥ 23,750

(d) - Cash purchases ¥ 27,450

() Interest receivable on investments ¥ 1,750

<aflgr auaflsr ergd @ gl LraflseT solOMs G@TU BLLAISEETL Lé sl
aumdeampant. SiefsT am® Wagid gaiQerm wrs @mnSuieid T 2,000

- Amu ahsss Qaradprt. afigreinE cﬁ,m@a;@ 10% a@uqa;m L8§5ITGDT

g sansSl(Hs.

Anitha and Vanitha are two partners sharing profits and losses equally. Anitha drew |

regularly ¥ 2,000 at the end of every month during the year Calculate interest on
drawings at 10% p.a. for Anitha.

AGars aeyum Howb T 10 efgbd 40,000 cparaifientn LkiGEamer
3 pavarngdle QrrsssdnE Qauafludi g QeuefllLliulL Simass
um@a;@a;@m wps Qsrenss QupliuiLg). o flw @'gﬂu@ul_®u u;ﬁaﬁ\mm
&(H3S.

Vinod Company Ltd. issued 40,000 preference shares of ¥ 10 each at premium of
% 3 each. All cash was recelved for all the shares issued. Give Journal entry.

6068
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Note :

45,

10

LGS - @ / PART-C
GLy: () gCsaib s Naméserss eNeLiLafésaib. @@ngm 45-6ug

) elarrailh@ sLLmub elerwelss Cauam@ib.
(i) smEHwe FriHs efeaTrEser @dJQ@.IrI’GIOT!f)]ﬁ)@Lb 150 QuUMTTEenSS@He S

Blamosd eflen_wef&seyLb.

5x12=60

(i) Answer any five questions mcludmg question no. 45 which is compulsory

(i) Answer to theory questions should not exceed 150 words each.

(=) . srisd seurseflar 31 32012 S|eTELL @@uurru_laﬁ'lm g LpLIe

sLereflser T 57,000
sM&E_[HSDSET :

@ 7,000 eurgrs; sL6tr CLTECHHGIS.

(i) sLameaflser g 5% euTyT QWIS SL6T RFIES L (HUTEES.

(i) sLameflser 551 2% SATEHLG RSIGEG L (HAUTESS.

slésl QU uSeysear shgl. Qeuefeuriisd Qnds sams@saild ¢ GraJaJrrgu

Garemmild erameyld Sr(hs.

IENTSAE

ﬁ@mgﬁ uEHST a1l Jhsmer @hapll ugﬂm wperpufled u;rrrmrﬂg,gj
auSpmir. 12009 eriiged 1 oHmitd 2010 worig 31 -<QpLD BrEerm(® (LplgeuanLtLd

< amgHGhu @erub dag BLLLD SaETLhls.

1.4.2009 31.3.2010
Qlarggi&sEnh QLTmILIL|SEHD 7 .
curkid) Bmriy 35,000 (cu)| 45,000 (L)
& Qrrésb 2,000 3,000
Fr&S Ly | 30,000 40,000
upue sLerefger - 85,000 - 76,000
Qumilyd Qurdl GsrEHwd | 2,00,000 1,00,000
<3 6D &EV6T 1,00,000 1,00,000
upue sLaipGaTT 1,50,000 1,80,000

- Ao, auspsr garg Qerps LweTUTL g HETE wrgEGCsrmib T 1,000
T(Sas derarLrt. Seuf amgmiuid T 40,000 HSD PSOTE

QUL s WBg 10% Cswiwrand S&s@s.



46,

47.

48.

11

(a) The trial balance of Mr. Karthi shows on 31.3.2012 as follows :
Sundry debtors ¥ 57,000
Adjustments :
(i) Bad debts to be written off ¥ 7,000,
(i) Provision for bad and doubtful debts be created at 5%.
(iii) Provide discount on debtors at 2%.

Pass adjusting entries and also, show how these items will appear in the final
accounts.

OR

(b) Mrs. Vasantha keeps her books by Single Entry System. Her p051t10n on 1.4.2009
and 31.3.2010 was as follows :

Liabilities and Assets 1'4;009 31'3:010
Bank balance 1 35,000 (Cr){ 45,000 (Dr)
Cash in hand 2,000 3,000
Stock 30,000 40,000
1Sundry debtors 85,000 76,000
Plarit and machinery| 2,00,000 1,00,000
Furniture 1,00,000 1,00,000
Sundry creditors 1,50,000 | 1,80,000

She withdrew X 1,000 per month for personal purpose. She introduced an
additional capital of ¥ 40,000 during the financial year. Find out the profit and
loss for the year ended on 31.3.2010. Depreciate Furniture by 10%.

Ga\uorend Bés Couamrqger Coemeuser wreneu ?
What are the needs for providing depreciation ? .

Qrréss S U ig Ui GTETNTE GTETET ? DS6 BETED&ET WiTeneu ? QFréss
ALl ulgue gurfsst Lweau@RSSID, warnsaer cuflensliLi(dEgis.
What is meant by cash budget ? Mention its advantages. List the method that can be
used for the preparation of the cash budget.

Hlevay Wwsed WPepsEh, wrHUEL WS Wops@h o drer Geumur®aer
wimeneu ?

What are the differences between Fixed capital method and Fluctuating capital
method ?

[ iy / Turn over
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49.

-

50.

12

2011 ’@'Luydﬁ 1 siemm <irellps iar Qpsirav T 90,000 wdllierer QuiBSrsems
uTRISlarT. omg Bmejeugharear Qsweyser T 10,000 g aT(HEE 10%
CriGami® wernuled Csiinranid eflewdaslilLg. 2014 wriE 31 g{mg
SlaeflupArd Lwempmits Curergma  82,000-5@ ApsiLlLg. @aiQeuns
QBID W& 31-0 samsEseT (pydst QUNADS oraé Qsram( Quipdir
SeGSWD CHULILOTET Sa&amaLb (e AaTHSEREE swrt Qeuis.

Aravinth and Brothers purchased machinery for ¥ 90,000 on 15t April 2011. They
spent ¥ 10,000 for installation charges. On 31t March 2014 the machinery was found

to be unsuitable and sold for ¥ 82,000. Depreciation is to be provided at the rate of 10%
per annum on straight line method. The accounts are closed on 315t March every year.

Prepare Machinery accounts and Depreciation‘account for three years.

Spsaranid eleurhisamers Qsmrem() Yemeupid elflgrhisamand sranrs.
(1) Qurgs @aru 9sb
(=) Blar Qamu fdlgn

(8) Briy ffsib o
T : ‘ 4

Qb Lian e 3,00,000 afipp Qummefier oissefane 1,80,000
Blsr @erud 30,000 Qprésbd 20,000
sLaBCSHTIT 18,000 eurdl Qprésid 30,000
aundl Guoe euenrlinpmy 12,000 sr&fmlay 10,000

From the given data, calculate :
(a) = Gross Profit Ratio

~(b) Net Profit Ratio

(¢) Current Ratio

| 2 ¢

Sales 3,00,000 Cost of Goods Sold ~ 1,80,000
Net Profit 30,000 . Cash in Hand - 20,000
Creditors 18,000 Cash at Bank 30,000

Bank Overdraft 12,000 Stock 10,000



51,

52.

el o e
: . R -' .
01.04.2003 oyameppll (PBH 100,000 | 60,000
01.04.2003 yemanpi BLLIL| SETEES, 3,000 ()| 2,000 (au)
2003-2004 oy1b <oy,@origq.60 GT(HLILEET 8,000 5,000
Wps®8g ey 5,(50‘0 3,000
er(Liy Bl euliq 240 | 150
2003-2004 oy oy @aomu Lk | 12000 | 10,000
| sflay QUHDS) 1,200 1,000
gL meflulle sarith 4000 - | -

13

Sipsaramihd eleurtismerd Qaran® Fel, FreT, eraytd s L_meRaafan WPSD
5@&;@&;mmu_||.b, BLULS SET&®SWL|D Suimt Qewis. -

Write up the Capital and Current Accounts of the partners, Ravi and Raja, from the
following details. : ' -

Ravi " Raja

T 3
Capital on 01.04.2003 1,00,000° 60,000
Current A/c on 01.04.2003 3,000 (Dr)] 2,000 (Cr)
Drawings during 2003-2004 8,000 5,000
Interest on Capital : - 5,000 - 3,000
Interest on Drawings 240 150
Share of profit 2003-2004 12,000 10,000
Commission Received 1,200 1,000
Partners Salary . | | 4,000 -

6068

efer euanywIm ‘rﬁg]mgaﬁm @:u_lé;@’lr_rgr'rasm--@éﬂgl 3 iO‘mﬁuqé’m_u_l- 2000

ukigsmar @ni iy I3 CessTs sryesSanme @oidipriy QEligaif.
@dleé 1800 LukGsmer ukQararg T 6 Ssn paugid GFssiulL
ukigserTs o Celellulih CFsg.

Gamauurear GHLCLLEAL LHaiser spgl. LG DUply samée OB
Wsa GliL| SEIEE SWITT Qels. ' |

The directors of Sheela Ltd. forfeited 2000 shares of ¥ 10 each for non paymént_ of final

call Z 3. 1800 of these shares were re-issued for ¥ 6 per share fully paid up. Give the
necessary Journal entries and prepare share Forfeited account and Capital-Resetve
account.

[ Smiys / Tum over
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GO : ravauCuigyid apey ellenrés@Enée efenwiafl

Note : Answer any three questions including questions no. 53 which is. compulsory. |

14

U@&S) - m /PART - D

eflemrailh@ sl Lmub el weNés Ceuasst(piLd.

5&6D. @eupmier 53-cug

3x20=60

53. (@) RS, Teremm gnl i_mefsar 3:2: 1 e eflflgsHed @eoru b LSihg)
aubgent. 31122004 b prevers @iy Hevevd GALIY 1S ereu(mLOmy.

()

Glummy i seit 3 Qlens gidamer <
upue sLafibCsmt | 11,000]  aurid 32,000
ey g 24,0001 upue sLemmefsar| 10,000
(PBD &ETEG G 5Ué;£@ul_| 9,000

R - 45,000 Qupdind 24,000

S -30,000 5]@;_}3 SL_L_L_LD 38,000

.T -15,000{ 90,000 JOENE B ,3;/@ 12,000
1,25,000 1,25,000

Sereupid Qamhismens amsdd Qsmair® 01.01.2005 Sjerm ‘T
Bneiarsdampg efed e,

@) SmeiarsHer pHQuWIT T 18,000 erer oSGt g

(i) BWs sL6T @8I5GE T 500-6@ s QFiis.

(i) Bleod, s Lib 20% wHICLDHYLD Qetiiul Lg.

Quibdlrsdlen Bz 5% Cauiiorard Bésriu L g).

(v) Ger@uir ugguriiyée Ceaeys@ T 1100 @g1680 Ol L g).

) T’ erérue®mE@ < 5,000 QeqibsiiulLg. 88 euflar sLen
sansdHE wrHpLiulLg. woLHISLH &/ @G (PSE &6wTE G 6T
LOMD wrHbl SewasiulL Hneuasder @iy Blened @My

swn Ceis.

S|VEVG
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(<) Epsaramd Aeurhisamers Qaram® 2009 wITE 31-bd pw@errrr@
QpgauamLyb argp@hu efurury, Garu BLLE SEMEMSEULLD,
Sipprever @@Ly Hows @Hleuwd swurt Cals.

31.3.2008
4

sr&EAmUY 50,000
LpLIa sLameflger 1,25,000
Qpré&sid 12,500
<D0 D &GV 6T | 5,000
vl-J,rbua) a;u_ezs‘?‘r_'r)Gg,rrr'r - 75,000
wHm eNeurmiseT
er(hLiy
Qupp SETEGLIG
2iefligs Hem@pLl
ueemss e ser

.asl_eﬁﬁ@g,rf@é;@ e',\laﬂgg Qrréeid
sLamefud 10 @mHs Qubp Crrésd
Apueerd SmLULbd |
QsreTpse Hmuub

Qprés apHLienert

7

20,000
7,500
5,000

17,500

2,25,000

2,67,560

7,500
2,500

2,500

31.3.2009

4
25,000
1,75,000
20,000
5,000

87,500

[ Amuys / Turn over
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(&) R,S, T were partners of a firm sharing profit-and loss in the ratio of 3:2:1. Their
. Balance Sheet as on 31.12.2004 stood as under. '

Liabilities ¢ Assets 4

Sundry Creditor | 11,000[ Cash at Bank 32,000
Reserve Fund 24,000f Sundry Debtors 10,000
Capital Accounts Stock 9,000
R - 45,000 Machinery 24,000

S -30,000 Land and Building | 38,000

.T -15,000f 90,000 Profitand Loss A /c| 12,000

' 1,25,000 1,25,000

| On 1% January 2005, T retired from the firm on the following.
| () That goodwill of the firm was valued at ¥ i8,000.
(i) That provision for doubtful debts be created at ¥ 500.
(i) That’\the land and building be appreciated by 20%.
(iv) That machinery be depreciated by 5%.

(v) That a provision of a ¥ 1100 be made in respect of an outstanding bill for
repairs. -

(vi) That ‘“T" be paid ¥ 5,000 and the balance be transferred to his loan a/c.
Prepare Revaluation Account, Partners Capital Accounts and Balance Sheet
of the reconstituted partnership. ‘

OR



- ()
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From the following details prepare Trading and Profit and Loss account for the

period ended 31.3.2009 and Balance Sheet on that date.

Stock
Sundry Debtors

Cash

Furniture

Sundry Creditors

Other Details

Drawings

Discount received
Discount allowed

Sundry expenses

Cash paid to creditors
Cash received from debtors
Sales Return

Purchase Return

Cash sales

As on 31.3.2008

.50,000

1,25,000

- 12,500

5,000

75,000

%

20,000

7,500
5,000
17,500
2,25,000
2,67,500
7,500

2,500

2,500

As on 31.3.2009

4
25,000
1,75,000
20,000
5,000

87,500

[ Hliys / Turn over
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54.  31.03.2005 ey £ sCeamaiy-cir s BHS TOES LT L G)HLILseT &Cup
sruuC(Berater. 2005 wriE 31 @b BT (PIgeuELWD <&y HEfw
eflwirumy, @eru pLL SaTsmswb, SibBreeTL @My Heaws GMlLepLIwd
St Qawlis. :

2005 g 31 opib prevem @mHLUILIMIIE]

unn B Liyser T | eurey @muyser | T
SIS 8,000| p s 40,000
audludled Qyrésid 3,400| el Linem 32,000
& QrrEsn 13,000| upue sLelBCsTT 9,000
Fn60) 2,000
QameTpsed 4,000
&Ué;a%]@l_'.lq (1.4.2004) 12,000
SL_L_L LD | 20,000
UDHLIQ &L emrarlaer 8,800
QumeusHE AW WwrhHmy
& 5,800
GUTL.EN& 900
g;L_QGq ' 500
QurgF QFaeser 1,600
S| DD GEVET - 1,000

81,000 81,000¢

Sipssramid Ffssl Heosar Qe CeuaT(Hib.
(i) 31.3.2005 yerm sr&HmLber wiiy T 8,000
@ pad B el 6% Aaiwdss Cam@ib.

() erOUY Bg eullq 5% Si@indiés Gauam(ib.
(iv) QsrhHur Ceuamriquwr smel T 200.

(v) e saligF QEagusHu urLans I 100.
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The following are the balances extracted from the books of Ganesh as on 31.03.2005.

Prepare Trading and Profit and Loss account for the year ending 31.03.2005 and a
Balance Sheet as on that date. ' '

Trial Balance as on 31.3.2005

Debit Balances - ¥ |Credit Balances 4
Drawings 8,000[Capital 140,000
CashatBank | 3,400(Sales 32,000
Cash in hand 13,000|Sundry Creditors| 9,000
Wages 2,000 .

Purchase 4,000

Stock (1.4.2004) 12,000

Buildings 20,0001 -

Sundry Debtors 78,800
Bills Receivable 5,800

Rent 900
-|Commission 500

General Expenses| 1,600 .

Furniture 1,000

81,000 ' 81,000

The fo]lowing adjustments are to be made.
@ Stock on 31.3.2005 was Z 8,000.
(i) Interest on capital at 6% to be provided.

(ii) Interest on Drawings at 5%.to be provided.

v

(iv) Wages yet to be paid T 200.

V) Rent prepaid ¥ 100,

[ HmLiys / Turn over
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55.

20

GTwur QL1 e 31.3.2006 @b QY &@TqhETar EpsTand Nairhiser
Qar@ssiu_@arerear. Qwrss @aru lfgn, fler Qeoru allflsb, Quss

Qaru fsb wHmID Qubs eldsd Wpaadluaupans samrébdHas.

eflpHuener
SPIIEF CFweysET

Bldlemi Cjaca)ma;dT

aullg. Qubng

2,00,000 GQorss @eoruid
6,000 elpLamed QFaasHar

3,000 Qupdrd eihndle
gHULL BLLID

500 QH;U’ @eomuid

80,000
4,000

1,500

66,000

Surya Ltd. provides the following information for the year ending 81.3.2006. Calculate
Gross Profit ratio, Net Profit ratio, Operating Profit ratio and Operating ratio. '

Sales
Office Expenses
Finance experises

Interest received

2,00,000 Gross Profit

6,000 Selling Expenses

3,000 Loss on Sale of Plant

500. Net Profit

80,000
4,000
1,500

66,000
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56. 1Qesreu(mLd Mmgmaaﬂaﬂ@gg 2015 i, G,rl_nm) LD[DQ]ID G Lorrg,rma;@&;a;rrm
Qrrées S LJi_Iq_u_lé‘G)GD SWIMéE :

LD‘ITng L6 Qg,ﬁd—r@g’@ an-;‘_m (.@W@Jrra; HMILD -.
Dueen | efpuemen Qe sar
4 g ;‘:z

%mmrﬂ 75,000 1,50,000 1,20,000
Gireuf 1,00,000| 1,35,000 © 1,35,000
LDrrfréc‘ 85,000( 1,75,000 - 65,000
TLITE 1,25,000; 1,20,000 70,000
G - 90,000 1,40,000 80,000

() - 01.03.2015-6) erdiGrré@td Qrrés GHLiL| T 80,000.
(ii) Egésa;@fﬂgegrrr:r Si@dss sLaflar sreb Gream® LOTSRgET.
(i) @Jrrlq_é;ma;u_lrrmr'ra;@é;@ é{mﬂgsg, sL_afldn STeolb 6( LDTSLD.

.(iv) Qeaayser bWTE5HCCL QFqssiL Geuaim@Ib.

v)  erlpeléd X 25,000 @mm Qersg eIpsiuL o drerg.

[ wliys / Turn over
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Prepare a cash budget for the month of March, April, May 2015 from the following
information : '

Month |Credit Purchase|Credit Sales Admﬂaﬁon and
Selling expenses
4 T 4

January 75,000 1,50,000 1,20,000
February 1,00,000 1,35,000 1,35,000
March 85,000{ 1,75,000 65,000
Aprl | 1,25000 120,000 70,000
May 90,000 1,40,000 - 80,000

(i) Expected cash balance on 01.03.2015 is ¥ 80,000.

(i) Suppliers allowed a credit period of two months.

(iii) A credit period of one month is allowed to custon'lers‘.

(iv) Expenses are paid in the same month.

(v) Sale of fixed assets T 25,000 in April.
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57. &far Bloiwd T 100 eSsi 40,000 LEGsmer QesefludLg. Qarens
Spss@m_euny QEayssriLL Gauam@ib.
aflamemiLigdler Qumpg T20
REEE 1 e QuTpg % 50
Wpaporeug emprifer Gurg T 20
FAIES il Gurg, E T 10

UBI@sET Sienardgih efamaniasiu () @816850 Qewliuc_ar, o A
Corédeér simansg Ogrenas(@pid QUDLILIL L 6. GHICUL R Lfle|saTr Hmes.

Cogib awkiflé sanss, Uk Pse saméE wHmibd @@Ly Heaws @iy
swmrt Glauis.

Green Ltd. issued 40,000 shares of ¥ 100 each payable as follows.
% 20 on application
% 50 on allotment
- X 20 on first call and .
10 on final call

“The shares were applied and allotted in full and the money was received in full in time.
Pass journal entries and prepare Bank Account, Share Capital Account and also Balance
Sheet. :

-000-







